|
g

L | ;
4+ L 14+ =
T - =
AN |
AN e :
N / ‘
N S I
VRN :
b / L =
- N |

DORMITORIO-2 DORMITORIO-2
1388 7 I $=10,14M2.

%_D; |

555 = : T

" oamo2 Imm

S+

SN

SALON-COMEDOR-COCINA

DORMITORIO-1
$=12,85M7.

g

LAVAD.

Aerot)
lavad

§=6,82M2.

I( < TERRAZA

Superficie construida

80.00 m?

(D] eato4

S=4,36M>.

$=23,04M2

— S$=21,23M2

&
]
—

500 QN

VESTIBULO
. S=245M2.

BANO-2
$=3,87M2.
C.
—
=

DORMITORIO-1
$=15,12M%

SALON-COMEDOR-COCINA

$=20,63M2

il

T ——_

=il

TERRAZA
$=5,21M2

SALON-COMEDOR-COCINA

]
-

o0

BANO-1

S=3,50M2. @ |

@ DORMITORIO-2

S=11,35M2.

DORMITORIO-1
S=14,14M2.

==
j/Aerof) J
\I\uva J
£
LAVAD. s TERRAZA

N

i

— DORMITORIO-1
BANO-1 S=14,51M2.
N S$=3,50M2.
il ‘
+ \—4‘ +
= f
TERRAZA
§=3,15M2,
DORMITORIO-2
A §=9,24M.
[ G G @
i

[ ]

SALON-COMEDOR-COCINA
$=20,32M2.




